
Precalc Graphing Natural Logs 

Graph the function below and supply all the 
work asked for.


Parent: ________________________


Multiplier: ______________________


Shift: __________________________


X - int: _________________________


Y - int: _________________________


Asymptote: _____________________


Graph the function below and supply all the 
work asked for.


Parent: ________________________


Multiplier: ______________________


Shift: __________________________


X - int: _________________________


Y - int: _________________________


Asymptote: _____________________


y =2ln x +1( )−e

y = −12ln x( )+6
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Graph the function below and supply all the 
work asked for.


Parent: ________________________


Multiplier: ______________________


Shift: __________________________


X - int: _________________________


Y - int: _________________________


Asymptote: _____________________


y =3ln x +2( )

y = −2ln x −7( )+3


